mPFC
g ratio

BNST

vHPC

A

g ratio

g ratio

1.0 1.0
0.94 0.94 '
0.8 % 0.8{ &
0.7 Sor{ &
0.6 0.6 p=1.16*10*-10
0.0 0.0l—
Con Res Sus
1.0 1.0
0.9 0.9
0.8 2 0.84
[

0.7 o 0.7
0.6 p=ZETT0NT 0.6
o.o'f — o.c'f —

Con Res Sus Con Res Sus
1.0 1.0
0.9 0.9
0.8 2 0.8

[

0.7 o 0.7
0.6 0.6
0.0t——1 0.0+————7—

Con Res Su

Con Res Su

Myelin thickness (um)  Myelin thickness (um)

Myelin thickness (um)

0.101

0.05

0.00-

0.104

0.054

0.00-

0.104

0.05-

0.00-

w
(=2]

Con Res Sus

Con Res Sus

p=1.19*10"-4
——

Con Res Sus

Myelin thickness (um) Myelin thickness (um)

Myelin thickness (um)

0.104

0.054

0.00-

0.104

0.054

0.00-

0.104

0.05-

0.00-

D2

p=0.015
—

Con Res Sus

Con Res Sus

Con Res Sus

(@)

0.8

Axon diameter (um)
© o o
» £ 2

B6

o
o

0.8
0.6
0.4
0.2

Axon diameter (um)

Con

Res Sus

0.0

0.84
0.6
0.4
0.2

Axon diameter (um)

Res Sus

0.0

Con

Res Sus

Axon diameter (um) Axon diameter (um)

Axon diameter (um)

D2

0.84 p=0.009
0.64 ™1 =1
0.4
0.24
0.0+ T

Con Res Sus
0.8
064 [~ ][]
0.4
0.2
0.0+ T

Con Res Sus
0.8
064 [T ™
0.4
0.24
0.0 T T

Con Res Sus



	Page 1

